PART —A (GENERAL KNOWLEDGE

The Moti Masjid in Agra was built during the reign of
(A) Humayun (B) Shahjahan (©) Au rangzeh
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(D) ShalAlam I1
oy e A AR P Afer e AEARTT H gay o

. 2 v C -

(A) TTY (B) TMETel (C) 3iRTorg T "
The largest ecosystem of the Earth 1 .

(A) Biosphere (B) Hydrosphere (& Lithosphere (D) Biome

et 1 AR g1 AR T & |

(A) SiFws (B) STeFSd (C) Rereviee (D) a1

If a current is passed in a spring, it
(A) gets compressed (B) gets expanded (C) oscillates

Ife Fee R ¥ yaifgq g € a1 I8
(A) HHHa & ST § (B)ﬁwﬁaa‘rmé (C) ®fud &= & (D) sruRafda & &

(D) remains unchanged

The largest biogas plant of the world was inaugurated in March 2013 in

(A) USA (B) Ireland (C) Finland (D) Germany
T & WY 99 AN WAF P A 2013 H e Squred fHar way o
(A) J@aY (B) HERATS (OREEE (D) S

Who is the author of the book ‘Conquest of Self*?
(A) Aurobindo Ghosh (B) Rabindranath Tagore (C)Mahatma Gandhi (D) S Radhakrishnan

X<, ‘PHRRE 6 Toh' B oG DI &7
(A) IRFA=T =Y (B) Xfa=grer Rk (C) HETeHT T (D) TH TG

Sharada Act fixed the minimum age of marriage of girls and boys respectively as
(A) 12 and 16 (B) 14 and 18 (C) 15 and 21 (D) 16 and 22

ARG R TN ASfha iR et B Rygr 7 9§ F fhad FEiRd @ g o8
(A) 12 3R 16 (B) 14 3R 13 (©) 15 3R 21 (D) 16 31X 22

Press Freedom Day is celebrated on -
(A) May 2 (B) May 3 (C) May 4 (D) None of these

U e a9 S s S 22

(A) 2 7§ (B) 3 7 (D) T ¥ FIE T

(C) 4 V8

Azad
{C) Rafi Ahmed Kidwai (B) AbulKalam

(D) MA Ansari

A DI A AR AR 58y or?
(A) e deach e e A
(C)T sEam Rz o v s
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ed to only two foreigners so far, (e

g. The highest civilian award of India ‘Bharat Ratna’ has been award
of them is Nelson Mandela. The other is

: . hai] Gorbachev
{A) Marshal Tito (B) Mlkhz:l{yc;;r Kdl:an
(C) Abdul Ghaffar Khan (D) Abdu Ve - R T B

yRA T WA I TIRE F e, R ST @9 qb Ba
I U TP Teq oAl € | R afd B 27

(A) TR &Y (B) fAgrEe ’ﬂaﬁa
(C) Iz IR @I (D) el doi W
10. The United Nations declared 2003 as'the International Year of = bility Year
(A) International Year of Freshwater (B) European DisabIiity Y -
(C) Both A and B : . (D) Intcmatmnal Spagc Yeal
ﬂgﬁwﬁaﬁzmaiﬁﬁm@maﬁaﬁﬁmﬁﬁa%?ﬂ. ,
(A) 818 Ul &7 Sfavisiy a9 (BJW fArerad matj
(C) A 3R B gl _ | (D) sieisia iafe
11. - Who was the first winner of Dada Saheb Phalke Award? _ ‘ o -
(A) B. N. Sarkar (B) Prithvi Raj Kapoor  (C) Devika Rani (D) Kanan Devi
frafeRa § @ B <TeT WRY Bed [REHR B Yo faordr €7 N \
(A) T TF. IR (B) 91 W1 B (C) 2T I (D) BT Y
12.  The computer’s processor consists which of the following parts?
(A) CPU and main memory (B) Hard disc and tloppy disc
(C) Main memory and storage (D) Operating system and applications
PYR P IR ¥ Fr=foiad § 9 19 9 qof B0 8 ?
(A) CPUuaﬂ? AT A (B) &8 f$&h 3k walid) fovw
(C) #9 #HY 3R wR (D) IIRURT Riwen oiiv ufcraera
13. Which batsman started his international cricketing career at the age of 16?
(A) Suresh Raina (B) Sachin Tendulkar (C) Piyush Chawla (D) Rahul Dravid
fo5r qectaret =1 ol fibdhe BRI 16 W B 9F F 3w fovar op?
AT B) WA Tge@x (O fe awen (D) viger wfis
14. The carliest example in India of a mosque built wholly in accordance with Muslim ideas was
(A) Moth ki Masjid (B) Atala Devi Masiid
(C) JagmatKh;na Masjid (D) ChhotaSona Masjid
RT RIS :
(A) AIE & 9Re (B)Wﬁwﬁimwﬂé € o, =5 &
(C) SHITETT Al | D) eiRoe
15. The alluvial soils of the Gangetic Valley are described 2
il @ Aol o
Wmﬁﬂﬁmﬁéﬁ@aﬁhﬁsﬂmﬁ%mw%? (D) None of these
Wl (@) sl (SR | ,
16.  Sound travel fastest in (D)3 § ®Ig T8l
(A) steel (B sir
S A S AN ¥ R A Sl (D) vacuum
17. ars ; I;
3:;:1}1(13:: If(]?:::r;laihghway connects which of the following . .- AR
W: pairs \ -
(C) India : Pakistan EB) India - CI?;:OUHMS?
FRIGRA AT Peaffas ¥ & g D) Ching : pay;
\ QI a : Pakist
(A) YIRS : Furer TID Srgar g
(©) wr ; qrfer B) ¥ : 4y

i (D) By -
1HTIAlCU vy Callloual il UL HIWIY.LUITI L UTfhvers
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19.

20,

2%,

22.

23

24,

25,

- (C) Irfan Khan and Vikram Gokhale

PART — A (GENERAL KNOWLEDGE)
The book *Around the World in Eighty Days’ was written by :
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(A) Charles Dickens ~(B) H. H. Munro (C) Jules Verne (D) Sir Richard Burton
IR, WSS <1 968 §7 T I 399 g7 o) T8 o)

A)Ted B (Byvaw AR (C) Jed o (D) & Rad geq

A marble dome is first witnessed in which Mughal building?

(A) Humayun’s Tomb (B) Akbar’s Tomb

(C) Jahangir’s Tomb . (D) Tomb of Itmad-ud-Daulah
AR &7 148 374 9 59 qore g9Ra § A998 ugel S wap
(A) BRI $T HFHaT (B) 3R AT Apay

(C) STETR &7 Fahay (D) STAE—IT—CTel HT Hebarw

The Golden Chariot is a luxury tourist train that connects the important tourist spots in the Indian

States of

(A) Karnataka and Goa (B) Karnataka and Kerala

(C) Kerala and Tamil Nadu (D) None of these
aﬁméﬁmwwﬁ@i\%m%aﬁw$ﬁwﬁﬁqﬁmﬁﬂmmmﬁ
BT WS B | -

(A) PAcH 3R M (B) #lcsd 3l ey

(C) R 3R afierrg (D) 379 A BIE wE

Who are the two actors jointly awarded with the Best Actor Award in 60"

National Film Awards?
(A) Annu Kapoor and Irfan Khan

(B) Annu Kapoor and Vikram Gokhale

(D) Shivaji Patil and Irfan Khan
ﬁ%ﬁaﬁq~ﬁﬁﬁﬁm%ﬁ%eoﬁw@u%%ﬁﬁ%aﬁﬁm$
PR ¥ F1T g mare

(A) 3] BR TF IEBH GH (B) ] R U4 fampw Mwa
C) &M @ 19 fAmy Trgal (D) Rl wifes vd svem @y
The Andhra Pradesh state government celebrated from September 15™ as

(A) Farmers Week (B) Children’s Week

(C) Farmer and Women Week (D) Human Rights Week
mmwwm%rwﬁﬁwaﬁﬁmmﬁm?

(A) fuT e (B) 9Tl I8

(C) ¥ Td AfRer Hare ) (D) AFAEIHR HTE

The Sanskrit poet called as the Indian Shakespeare?

(A) Kalidasa (B) Thulasidas (C) Sudraka (D) Kautilya
b ¥ Bfa B e FE W 87

(A) Freflerg (B) Terfiery (C) &P (D) Hifeea

The main job of a CPU is too..... .

(A‘) carty out program instructions (B) store data/information for future use
(C) process data and information (D) both (A) and (C)
CPU a1 2 ifg g o 3
(A) ST B g 3 forg (B) e wR T B e/ A H g & forg e
(L.)maf AR L R B @ T (D) (A) sl (C) B
Yaspal Rana is a distinou i i

s a distinguished athlete ip v following games? TS
E A) Archery . (B) Shooring ich of télg_) gwimmiﬂg (D) Weight lifting
(3A*_“)qﬁﬁ_‘\’rﬂn A 6 O B ufifay Reamrdy &7
A ey (B) sl[%‘-q .(C)W (D) HRITAT

. ; : 1L ASASA RN}
AL R L R VIRV | ”] N AL TIN VAL LTIV 1HJin vl
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If4a - Sband 7b=9c¢,thena:b:c=7
TR 4a=5b3AR Tb=9c B @ a:b:c="?
(A)46:36:28 (B) 44 :33:28 (C)28:36:45  (D)36:28:45

Find the value of:

v2a+y216
V96 '
24+ 216 .
EREVES 2 ®T 79 36 B
V96
2
(A) 2V6 (B) 2 (C) 6v2 D)7
Find the value of:
fomferRaa &1 99 ST .
(1-9 (-3 (1-3) = (1-3) =7
2 3 4) " n/
(A)% (B) ( il) (C) [nr_ll} (D) None of these/
T 3 PIg TEl
Find the value of:
fr=forRaa &1 w19 s &w e
2 of 2 of L of 1664 =2
4 6 10
(A) 648 (B) 762 (C) 612 (D) 728

Find the difference in amount and principal for Rs. 4000 at the rate of 5% annual interest in 4 year.

4000 ¥ & U 5% a1fi® <Ot &1 X 9 4 94 § Ga WY 3R @99 B 3R BT uaT oY |
(A) Rs. 865.50 (B) Rs. 865 (C) Rs. 400 (D) Rs. 800

The compound interest on a certain sum for 2 year is Rs 105 and simple interest is Rs 100. Find the
sum.

v AR T w2 78 @ o gl @ 105 © AR WeRY @rs 100 © & | R FT gar @G|
(A) Rs. 300 (B) Rs. 500 (C) Rs. 400 (D) Rs. 600

In a company, there are 724 employees. 25% employees left the job. Find the number of rest of
employees.

UFH HUA H 724 THART B | 25% B B Bl Y ¥ | Ay R 2 G g a¥
(A) 543 (B) 550 (C) 578 (D) 565

The average of 50 numbers is 38. If the two numbers 45 and 55 are not considered, what will be the
average of remaining numbers? '

50 He2mSt BT SN 38 ¥ | QN 1 Wl et 45 @ik 55 W) RuR T8 frar oe &) e a4
TRl & 3 FaT BRI
(A) 36.5 (B) 37 (C)37.5 (D) 37.52

By selling an article for Rs 720, a man losses 10%. At what price should he sell it to gain 5%?

U 9% B1 720 39 § g v W U@ Afad BT 10% @) &1 81 & 99 5% a3
H @ o guat fwa e e ) B aiiRe?

(A) Rs. 840 (B) Rs. 890 (C) Rs. 1000 (D) Rs. 995

‘wererdieu Py cdarnoscariner 1moir isiyg.coirl
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Find the value of:

Pl &1 A ST BY

11992 - 7823 —456 =7

(A) 3703 (B) 3813 (C)3713 (D) 3823

A and B together can complete a piece of work in 12 days, B and C can do it in 20 days and C and A
can do it in 15 days. A, B and C together can complete it in

(A) 6 days (B) 9 days (C) 10 days (D) 10—;— days

A 3R B ferax 6l om @ 12 A § @1 &R Fhd & B iR C 99 BM BI 20 T H [ AR
Hhd & a1 C AR A I F B 15 39 § q®1 &R qad €| A, B 3R C BoIdr 89 [ IR
Hehd 27

(A) 6 e (B)9 fa= (C) 10 = (D) 10> f&=

A train travels at 82.6 km/hr. How many metres will it travels in 15 minutes?

TH ¢ 82.6 Thdl /6 &) iy | I BRI &1 I8 15 e § fhae Hex s ?
(A) 20.65 m (B) 206.5 m (C) 2065 m (D) 20650 m

A sum of money is divided amongst A, B, C and D in the ratio of 3 : 7 : 9 : 13. If the share of B is Rs
4872. What will be the total amount of money of A and C together?

T% Y B A,B,CAR D® 9 3:7:9:13 F U H 9T Wl & | 3R B 6T BRI 4872
g A SR C 3 HET ol fbadl 359 87
(A) Rs 8352 (B) Rs 6998 (C) Rs 9784 (D) Rs 7456

Find the val‘L_le of
HHE 10 Y|

V2025 =7 x V81
(A)7 (B) 9 | (C)5 (D) 11

Price of 5 chairs and 2 tables is Rs 1350. Two chairs cost as much as one table. What is the price of
one chair and one table?

5 BRI iR 2 AW BT FAT 1350 T B | &7 FRIAT DI DHT Th AA B HIAd & a6 2| UF
H1 3R P A9 B Fa e 87

(A) Rs. 350 (B) Rs.450 (C) Rs. 500
Find the value of:

=fefaa &1 99 s BY?
0.25 x 0.25 — 0.24 x 0.24 ,

0.49
(A) 0.0006 (B) 0.49 (C)0.01 (D) 0.1

(D) Rs. 550

On a certain sum, the simple interest at the end of 12 % years becomes % of the sum. What is the rate per
cent per annum?

& Mftaa a=wrfy 12%6&ﬁwﬁﬁwwmwwﬁm 3 & omen 2 9l ad e
o fper 27 !

(A} 4% (B) 5% (C) 6% (D) 8%
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PART -~ B (NUMERICAL) UMEG/C/Page8of 16

o b ey ~ e 10
43, What will be the amount of Rs. 1500 after 3 years if the rate of compound interest per annum 15 3%,

4% and 5% for the first, second and third year respectiv ely?

150063‘1'Wﬁsaﬁaﬁmﬁvﬁ?ﬁgﬁmmgﬁaﬁaﬁqﬁmfﬁm%ﬁ.?ﬁﬁﬁ?ﬁmaﬁé;%ﬁ

FHI 3%, 4% 3R 5% BI?

(A;Rs.z?xo.m (B) Rs. 188040  (C)Rs. 1687.14 (D) Rs. 1785.60

44, Find the value of:
reifba @1 A7 S B
(50 + 50% of 50) = ? |
(A) 50 (B) 75 (C) 100 (D)150 ;

45.  The average weight of 8 men is increased by 1.5kg when one of the men who weigh 65 kg is replaced
by a new man. The weight of the new man is;

8 afdet 7 sl R @ 1.5 e ag W & o 98 ¥ 65 el R arel U wufa
@ ST TS T kT AT S 2§ AY Afdd a1 R &
(A) 70 kg (B)74 ¢ (C) 76 kg (D) 77 kg

46. A dishonest dealer professes to sell his goods at cost price but he uses a weight of 800 g for a kg
weight. Find the gain percent.

Ueb A SIoR AU A B A qod TR 999 B €197 BRal © i 98 U [haluE @
gec @ for 800 UM & gTeT SRIAA $dl B | o UfTd wid PN |
(A) 35% (B) 56% (C)23% (D) 25%

47.  In the given figure, what is the value of y, if 5y =4 x?

< TS AP H, PR Sy =4x § Al y B /N " 22

(A) 80° (B) 90° o 3

(C) 110° (D) 115° P s - v
48. Find the value of:

e &1 71 3T B

2234+ 841273 =9+ 123 |

(A) 922 - (B)932 (C) 822 (D) 832

43. A works twice as fast as B. If both of them can together finish a work in 4 days, then in how many
days, B alone can do it? PR )

ABR T a0 W w2 AR @ o ol e e
e L & Ol T 1 4 2§ awd ¥ o B s
(A) 12 (B) 16 () 11 (D) 15

50. A certain distance 1s covered at a certain speed. If half of

the distance is covered in double time. t
ratio of the two speeds is ¢e 1s covered in double time, the

- FRma T 9 Pl < g @ o Gl s . \ :
FT U FEZT ? ) B1 AR e o A R A gy o oy & O wl T

| (A)4:1 (By1i: {(.)l 2 D)2 ]
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55.

56.

58.

" Choose the most suitable preposition :

PART — C (ENGLISH)

UMEG/C/Page 9 of 16

She has strong antipathy......... smoking.

(A) for (B) against (C) to (D) of

Choose the most suitable preposition :
The Indians fought......... the English......... freedom.

(A) for; with (B) to; with (C) with; for (D) of; for

Find out the error part of the following sentence :
Whenever 1s the matter (A)/ 1 shall do this work (B)/ because I have to expose (C)/ my

working capacity at any cost. (D)

Find out the error part of the following sentence :
All said and done (A)/ it is the basic values that (B)/ are most importance and (C)/ help you in

the long run. (D)

Fill in the blanks with appropriate conjunction :

............... the food last night?

(A) Do you like (B) Liked you (C) Were you like (D) Did you like
Fill in the blanks with appropriate conjunction :

0. MO——— school, I went to live in Tokyo.

(A) leave (B) leaving (C) to leave (D) left

In the following question identify the correct sentence/s.

(1) The airline upgraded me to business ciass.

(II) There has been an upward upturn in the economy.

(111) Cross-border cooperation has led to series of arrests of drug smugglers.

(TV) Cross-cultural misunderstandings happen very often in today’s world,
(A)lland IV (B) 11 and 111 (O)land 11 (D)1 and IV

In the following question identify the correct sentencer/s.

(I) The brain is a strange organ.

(11) It works in ways we don’t understand and manage to create everything we see.

(II) Working at odds with the rest of the body it performs best when we are not consciously
trying.

- (IV) Creativity will be at the life-blood of every facet of life.

: -'f-!i'A)_ Hand IV (B) I only (C) IV only (D) Tand I

Generated by CamScanner from intsig.com
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My brother (A)/ h

PART — C (ENGLISH) UMEG/C/Page 10 of 16

On the basis of the given sentence pick out the correct sentence converted in Past Perfect

Tense from the given options :
I am not writing a letter.

(A) I had not been written a letter |
(B) I had not written a letter
(C) 1 did not writing a letter
(D) 1 did not written a letter.

On the basis of the given sentence pick out the correct sentence converted in Interrogative
from the given options:
I have got your letter.

(A) 1 will get your letter?

(B) Have I got your letter?

(C) Will I be getting your letter?
(D) I shall get your letter?

Antonym for :
HIDDEN

(A) appealing (B) apparent (C) apparel (D) none of these
Antonym for :

HOPE

(A) beatitude (B) platitude (C) despair (D) deign

Find the synonym of :

OBJECT

(A) Disobey (B) Challenge (C) Deny
Find the synonym of :
ALLOW

(A) Accept (B) Seek (C) Permit

(D) Disapprove

(D) Wish
Find out which part of the sentence has an error. [ there is no mistake, the answer is (D).

They left (A) / their luggages (B) / at the railway station. (C) / No error (D)

Find out which part of the sentence has an error. If there is no mistake, the answer is (D).

as ordered (B) / for a new book. (C) / No error (D)

Generated by CamScanner from intsig.com
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69.

70.

71,

72.

73.

74.

PART — C (ENGLISH)

Analogies for :
RUDE : BOORISH ::

(A) deadly : pernicious (B) suspicious : pernicious

(C) patronize : support (D) daring : daredevilry

Analogies for :
TEACHER : INSTRUCTION ::
(A) police : law (B) army : soldier

(C) nurse : medicine (D) sentinel : medicine

Choose the option that describes the meaning of the following idioms and phrases :
To lose one’s bearings :

(A) to become sick and tired (B) to lose one’s strength
(C) to be uncertain of one’s position (D) to become hopeless

Choose the suitable option that describes the meaning of the words or phrases printed in
italics in the following sentences :

Napolean won his laurels in the Battle of Waterloo :

(A) acquired distinction (B) defeated the encmies
(C) adopted aggressive attitude (D) surrendered to his opponents

Fill in the blank with appropriate given option:
Ramis ....... famous artist.
(A)a (B) an (C) the (D) that

Fill in the blank with appropriate given option:
....... book you want is not with me.

(A)a (B) an (C) the (D) that
Fill in the gaps with correct form of verb:

Fine years have passed since hismother

(A) had died (B) died (C) have died (D) die
Antonym for :

DEFERENCE

(A) sequester (B) dcadpan (C) disobedience (D) entreaty

Find out which part of the sentence has an error. If there is no mistake, the answer is (D).

NOH@ saw him (A) / worthy for the reward (B) / he received. (C) / No error (D)

ed by CamScanner from Intsig.com
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PART — D (REASONING) UMEG/C/Page 12 6f 16

Facing towards South. Ram started walking and turned left after walking 30 m. he w‘zdkcld 25 m and
turned left and walked 30 m. How far is he from hijs starting position and m which direction. _

(A) At the starting point only (B) 25 m, West (C)25m, East (D) 30 m, East
RIOT BT IR q@ BB, T FA Yo YT & 3R 30 fAe doE B g aid R s €, T8 3 ﬁmﬂ
Forar 8 A IRl oIk gem w@ 30 dlex FoEr ¥ 98 ou AIREE &g 9 fhol gR SN e fRar g
(A) el IR fig W (B) 25 #rex, uf¥em ()25 AIex, gd (D) 30 #ieY, @

Arrange the words in a meaningful logical order and then select the appropriate sequence from the
alternatives provided below:

1. Consultation 2. llness 3. Doctor 4, Treatment 5. Recovery

AGT B TP ARG THdd 7 5 oy i fhv frfoid fabedt & Sugad A @1 g |
1. o=reel - 2. §Hr)) 3. fufbeas 4. 9UdAR 5. ey A
(A)2,3,1,4,5 (B)2.3,4,1,5 (€)4,3,1.2,5 (D)5.1,4,3,2

Arrange the words in a meaningful logical order and then select the appropriate sequence from the
alternatives provided below:

1. Key 2. Door 3. Lock 4. Room 5. Switch on

U B U Arefe oI BY ¥ @ ofR R PrefoRad Gweal @ S9ud S B g |
1. = 2. ST 3,91 . 4, TR §. Fref, HRAT
(A)5,1,2,4,3 (B)4,2,1.5,3 (Cy 123,54 (D)1,3,2.4,5

In the following question one number is missing in the series. You have to understand the pattern of the
series and then insert the missing number.

AEfea sieaar 9 Ue id U9 B | AUBT T FEET B e B GHSE &l b e afb @i
foram 21

17,7,24,19,9,28,...... By 3Ly 27, 10,37

(A) 21 (B) 18 ()12 (D) 23

In the question given below three out of the four given sets of numbers follow the same pattern, while the
forth one is different. You have to find out the set that does not follow the pattern of the other three.
fr=ifd ar sipmarelt § W @ AT @ & Ted @ SRR aRel € Sefs el simHen g #
I8 ABHT S BN S A=Y T B U 1 3R T et 2|

(A)5(68)9 (B)11(8) 13 (C)3@27)6 (D) 7(125) 12
Find out the missing number in the following: 1 3 5
Frifda AR 3§ TEe 30T T B = © =
_ (D : 2
(A) 40 (B) 48 (C) 56 (D) 64 55 5 >3
125 192 |56 |

Find out the missing number in the following:

fifsa Aol § e o g oY 25 4 27
(A)21 C ®1 () 31 o151t

Pushpa is twice as old as Rita was 2 years ago. If difference between their ages be 2 vears, how old is
Pushpa today? '

(A) 6 years (B) 8 years . (C) 10 years (D) 12 years

2 g T THT BT 1 N A AR | A ol | AN Y g D 2 a¥ B 3R At A qu @) Y
aar 87 : ‘

(A) 6 aY (B) 8 9§ (C) 10 gy (D) 12 g9

Mr. Sohanlal is four m.ne“ as old as his son. Four years later, the sum of their ages will be 43 vears. The
present age of the son Is ‘
(A)Syears  (B)7 years (C) 8 years B0 yEurs

o argard B I T I W AR TR | AR qf qre gaa) A @1 AT 43 o @ o
qdwd org e By | |

(1‘}53’5‘ (B) ! (('}8-';,[5? (D} 10 7%
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PART — D (REASONING)

UMEG/C/Page 13 of 16

in the following question, sclect the correct option of the

question asked. On the basis of the following figures, which L3N L4 L 7/ |
number will come in place of (?)? 6!y 2.8 s |
Prferfad TR H, Y T 4R @ W fAwed B gmd o8 | W b s
Prerfafad STHRYA & ARR W (7) @ WE W HE- " ® 0")
weE Mg
(A)2 (B)3 (C)6 (D) 4

g6, Choose the correct mirror image from the alternatives PSR
(A), (B). (C) and (D) of the {igure given. P — o e |
& TE ATH B faEel (A), (B), (C) 3R (D) —= | ===
H QW v gy yfafae @l g | R A R

87. Choose the correct mirror image from the alternatives

(A), (B), (C) and (D) of the figure f
& 3 PR B RS (A), (B), () I (D) - | U’ 11> ﬂl[l,
H R W o affe o o .

A ® © @
88. In the following question. which one of the four Answer Figures on the right should come after the
Problem Figures on the left, if the sequence is to continue?
freferRaa oo  afe 3 9970 @1 S o1 Al TR% D GHET piaAl B §TG < TRE
B AR FT AFAT H A DN AT AT

Problem Figure/ AHTIT STHTT Answer Figure/ SR 3Tic
BRI REIRSIE:

89, In the following question, which one of the four Answer Figures on the right should come after the
Problem Figures on the left, if the sequence 1s to continue?
for=ifarRaa we 8, afe a9 ar oY o1 9l X% @) wHen angfadl & arg SRl e
B IR IR IAHAA H F B 3Pl Al

Problem Figure/ FH®IT 37Tl Answer Figure/ STR H1dHfd
: A a ¢ n

90. In the following question, which one of alternatives Alternative figures
figure will complete the given figure pattern? " ,
Frfermae et ¥, dmform Tt § @ - Patem 3|8 |g|g|
s Ry T sy e @Y oy Bwfy? AR ®

91 In the following question, which one of alternatives " o Alternative figures ;
figure will complete the given figure pattern? N 7 2 1
FrefeRed ue 4, dofoum amaferal § 4 PR- Pattern\ 7 % s N A
sl fay T gy e B @ v A B c D

.. 92 Village Chimur is 20 km to the Notth of village Rewa. Village Rahate is I8 km to the East of village Rewa.

Village Angne is 12 km to the West of Chimur. If Sanjay starts from village Rahate and goes to village
A“gﬂt m which direction is he from his starting point?
{A) North . (B)North-West  (C) South (D) South-East
3 ﬁ:“i? L ﬁzn T GTR F 20 feifer @ g W B B M9 d4r wig @ ud § 18 fFeificy A
. D W R ST M R g b afven # 12 EAeR B gl W Y| anr o e T @ e
TR DU T AR AT mig s R A aw oy PG {8 ey Ry § 27
R (B) g - UfdEw  (C) aférr (D aférr -
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93, A man said to a woman, “The only sister of your brother 1s my mother.” How is that man related to

that woman?

B)S C) Husband . (D) Brother
gggc%wmé%gn"wwﬁmwﬁﬁm%;"wgwﬁww@wzﬁr
FI7 GaY 87 k
(A) fa (B) 33 (C) afcr (D) WS

94. Find the missing term? / TAY Ug =il N |
13(168) 13, 14 (181) 13, 15(7 13,7

(A) 190 (B) 194 (C) 195 (D) 196

95.  Which one of the Alternate Figure shall complete the R ——
given problqnl Pattern ? ‘ \AJ ~
FrerfRa 3 3 ai-w 9ok SRt & & T W pgern DS \ FN
mepfa 1 ERfY? ‘ i

A B © O

96. The figure given on left is the unfolded position of a cubical dice. In the following question, this

unfolded figure is followed by four different figures of dice. Select the figure which is identical to the
figure given on left.

Wﬁﬁmwmwiﬁl@ﬁﬁﬁﬁﬂ%%Iﬁﬁ%ﬁ?ﬁﬁﬁ,ﬁ@ﬁfﬁnﬁaﬁcﬁ?ﬁ
a1 U B AR - st @ T § | 9w argfy @1 e W S A @ 7 mefy & wgw 2

me LEA LFA LES LB
“8 18|85 | elY (8|S |ElA
iclo] L 1 S - A S I '
| 0 0 i ()
(A) (1) (B) (i1) (C) (i) and (iii) (D) (1),(11),(111) and (iv)

97.  Choose the correct mirror image from the alternatives
(A), (B), (C) and (D) of the figure given.

QT TR B fral (A), () i \
@?(D??gﬂflm%%gaﬁgﬁl @D OIS D&

(A B (© (D

98. A is 40 m south-west of B, C is 40 m South-east of B. C is in which direction of A?
(A) South (B) West (C) East (D) North-east
A, Bm 40 Hex IRv-ufdegm § C,B @ 40 #Iex aRor—qd § & &Y €, A B fory frem & 29
(A) Zfaror (B) uf¥em © (D) STR—d |
99.

In the question given below three of the follow

a group. Which does not belong to that eroun ?
A {2y T e § ARy : o

RN A W Pl
O W H O W ¥

ing four are alike in a certain way and so form

ﬁw%aﬂ_"ﬁﬁ?ﬂ@ﬂ%

([;) FU

own. See these figures and

100.  In the following question. fi iti
» Tour positions of the s i
select the number o e ame dice have been sh

OPPosite to the number as asked in thi Sti
Fr=fomad o o v & gy G . is question. |
ﬁmmmmﬁmmﬁeﬁmw@ﬁﬁwﬁmaﬁﬁaﬁvww G|

_ ! T ue H ? o
Which letter will be opposite 10 Jetter D? L £ 8BS FBA B

R D & RIS e gy SCRRNCRESCR e
(A)A (B)B (OF (D) F L
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